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Which passes through the origin?

FORMATION OF

DIFFERENTIAL EQUATIONS

1) A curve passes through the point (4, 2)
and at any point (x, y) on it the
product of its slope and the ordinate is
equal to abscissa of the curve is
1) parabola 2) Ellipse
3) Circle 4) Hyperbola
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2) The differential equation of the family
of circles whose centre lies on x-axis
and passing through origin is

dy

Ne+y +o0= K. Kumar
2) (y* — x*)dx — 2xydy =0
3) yidx + (x* + 2xy)dy =0 Sr. Faculty
4) xdy + vdx + x*dx + vidy =0

128y e Hyderabad

3) The D.E of the family of parabolas of

which has a latusrectum 4a and whose 94929 56214
axes are parallel to x-axis
1) yi +2ay, =0 2) yi +ay,; =0 -
3) yi +4ay; =0 4) yi +3ay; =0 31) The solution of j—f - ::l*

1) x*=2xy+y*+3x=5y=c¢
2) X  —dxy+y +6x-10y=¢
3)x*—4xy-y*'—-3x+5y=¢
4) x* =2xy+2y* +6x =5y =¢

4) Assume that a spherical rain drop

evaporates at a rate proportional to its 14) The family passing through (0,0) and

surface area, the differential equation e . . ;
: : ' satisfying the differential equation
involving the rate of change of the fying q

y d™y.
radius of rain drop fT=] (where y, I 18
1) & = & ) E=_p 1)y =k 2) y = kx INTEGRATING FACTORS OF
J[ ’. i W
RS 0 3y =k(e*+1) 4)y = k(e*-1) DIFFERENTIAL EQUATION

dr? FIE
& &
15) The solution of = = xlogx 32) LFof x==+y(1+x) =1

5) The D.E whose solution is y=c,e* + 1} 2.8% 2) &
C;8™" + Cy5inx + ¢ cosx IS 1) 2y = e Ij”yx + i] + ’ x
1) Ya=V2 2) Ya=Y3 3) x+logx 4) xlogx

- o 1 .
3) ¥a = Vi 4) ya =y 2) 2y = x° [logx - 3| +

) y= .E_;“n_q;_r - %) +¢ 33) L.F of xsinx E+ y(xcosx + sinx) = sinx

6) The D.E*wh{:-SE fﬂlutiﬂn IS y =‘ cz‘ +-1is 4) y? :‘r“n'nyx — 1) xcos x 2) xsec x
1)y = o i 2) y= s Bigpea, . 24) Equation of the curve whose sub 3) xsinx 4) x cosec x
3)y=xTyi = xy, A) y=xTyi +2xy, 16) The solution of ¥1 = x®sin"'xdy + ydx = tangent is constant is LINEAR DIFFERENTIAL
7) The differential equation of all non- O ey B 1) y? = ce® 2) y = cx? EQUATIONS
vertical lines in a plane is ) ynm_.r = ) ysrr|_1.r = : 3) y = ﬂE‘E 4)y= i
1) <2 - 2= 0 3) yeosT'x=¢ 4) xsin"'y=¢ Y Y 34) The general solution of the differential
dx* dy? 1 2 s
. ; . g equation yvdx — (x + 2y*)dy =0
3) 2 =0 4)Z =0 17) The solution of xdx+ydy+(x*+ ~  25)The solution of (1 +sin‘x)dy+ )y=2x+cx  2)x=2y* +cy
y3)dy =0 cosx(1 +y31dx =0 given that y=2 3) x2 = y2 4 cy 4) y = 32 4
8) The D.E whose solution is y = acosx + 1) (x*+y*)e Y =¢c 2)(x*+y*)=cxy when, x = s
bsinx + xsinx is 3) (x*+y") =cx? 4) (x* +y*)e* =¢ : 1) y= sinx+3 2) y = 3 sinx-1) 35) y+xi= :—*; has the solution
1) y2+y= COSX ) aty= -_‘”'"-f _ ; 3) y = sinre 4) y = sinxe3 1)y+x*+2x+2=c.e*
3) v;+y=2sinx 4) y; +y=2cosx 18) TI‘IHE :Eﬂlutlﬂﬂ of xdx + ydy =x*ydy- )y = v )y= P 2)y+x+2x* +2=c.e*
o Xy“dx Is _ ' ) y+x+xt42=ce®
9) The D.E whose solution is xy =ae” + 1) -rz -1=c¢(1+y%) 26) Equation of the curve passing through 4) y* + x4+ x4+ 2 =c.e?
be™* is | 2) x*+1=c(1-y°) | (0,0) and satisfying the equation
1) xy; + 2y, =xy 2) xy; -2y, = xy Nx'=-1=c(l+y") ﬂ_{:{x-y}z 36) If y(t) is a solution of (1 .|_g}ﬂ;:'._;}.- = 1
Sy — 3 e e 3 ¥
3)xy; =2y +xy =0 4 -1=c(1+y) o and y(0)=-1 then y(1) is equal to

4)xy; =2y, +xy =10 1:|E'I'T[]—I+_‘_|.-’]=I+I—}'

2x Y ] 1) == 2)e+- 3)e-- 4)-
| _ 19) The solution of (x +y+ 1) =1 is L) F AL Ex=g) wi=x+y 2 : : *
10) Differential equation having general N e 5 i dx 3) e*(1-x+y)==(1+x+y) -
solution y = (sin"'x)* + A(cos 'x) + B : 2]1:_{}""2}"'(9! | 4) e*(1+x+y)=1=x+y 37) x==+y—x+xycotx = 0(x # 0)
where A, B are arbitrary constants is 3; >~ :EI:-E:]I: i”’r 1) y(xsinx) = —xcosx + sinx + ¢
1) A=-x%)y;—xy, =0 i = 27) The solution of e*J1 = y?dx +=dy =0 2) x(xsinx) = xcosx = sinx + ¢
4)x=(y+2)+ce™” x P A :
2) (1=-x%)y,—xy, =1 y 1) (x=1)%" = (1=y3) + ¢ 3) ysinx = =xcosx + 2sinx + ¢
3 =-x)y, —xy, =2 : ” i = J’; ; 4) ycosx = xsinx + 2cosx + ¢
4) A =x)y, —xy, =4 20) Solution ﬂf,r+;|.r=ms'1(;—"") is 2) (x+1)e* =y1=-y*+c
3 X = ] = y* : Ay [
: 1) x +¢ = tan (ﬂ] 2) x +¢ = sin (L) ' 3) x.e Bk st i 38) The solution of sin2x (m_) y = tanx
11) A normal at any point (x, y) to the B . iy 1) x=ysinx =c¢ 2) xytanx =¢
curve y=f(x) cuts a triangle of unit 3) x+c=sec (T) 4) x + ¢ = cosec T) 4) (x—1)e* = JT—y% 4¢ 3) y=tanx +¢c 4) y = tanx + cvianx
area with the axis, the differential .
equation nithze C“:""E B 21) Solution of (x —:.r]"? = g? 28) The solution is sin~lydx + I%dy =0 BERNOULLI EQUATION
1} v = 2 [} =422 . I-y-ﬁr - o
i [:r“r)z e 1) 2y = ¢ +alog (I_,,Hﬂ) | B e ol 39) Which of the following transformation
2) x* - y?{::—”) = ’:—’: ' 1) ysin"'x=¢ 2) y = csin™'x reduces the differential equation
g W === £-yta 3) y = sin(= 4) x =csiny 4 Zlogx = = (logz)? into the form
3) y* (E‘i‘) + 2(xy-1) :—:;:j +xi=0 2) y=c+alog (1‘—}':i) | (') dx - ;r :{'ij E’,[{;{.;‘ﬂ 2)
T ¥ i i =
) x+y(Z)=y 3} S = i (ff;.“l HOMOGENEOUS EQUATIONS - - N u=e
. 4) 2y* =c + log (.r-~_'|.--u) | . g 2 B 3)u=(logz)' 4)u=(logz)
SOLUTIONS OF THE DIFFERENTIAL EQJ{TE*E \ 25‘3;":“0“ of  (x"—3xy“)dx =
EQUATIONS VARIABLE SEPARABLE 22) The solution of 2 + 1 = e** is 1) y? = 22 = (a2 + y2)’ 40) The solution of sec’y + 2xtany = x* is
: 1) e " 4t x+c=0 ' 2) ¥ —x¥ = e(x? + y?) given by x? — 2tany + ce™ = A where A
dy 3y = . y'=x"=c{x*+y
12] If "—sz_:' <¥ and y-[l when 1—5, the E}E—I:I+}':qu+':.:|:] 3} }"':+I‘J'=L'[.I‘!+}'Ej 1} = 2] -1 3] 1 4}2
value of x for y=3 is e +x+c=10 | 4) y* + x* = ¢(x? - y?)
DE" SlPal, S Mias p B NON-HOMOGENEOUS L Awwe Ky
| 23) Equation of th h dient - D] 4[] 2| 1][H]|2]5] 4
, dy . quation o € curve whose gradien i 6) | 3 7) ] 8) 4 9 1 [10y] 3
g khe diffgrential ) at any point (x, y) on it is = and 30)The solution of (2x+3y=-5)dx+ I3l 3 ] 2] 4]15]2
where A is a constant represents a set which passes through the origin is (3x =4y +1)dy=0 160 2 |17 | 18) | 1 9] 1 [200] 1
of | 1) 2% % w2 (i — 5) 1) x* +3xy - 2y* =S5x+y=c¢ T (20 21 2] 3 [25] 1
1) c!rcIES centre at y-axis 2) x? +y2 = 2{ax + by) 2) X +3xy—-4y*-5x-y=c 26)| 1 127 4 |28} 3 29[ 1 |30)| 1
2) circles centre at x-axis 3) 2%yt A 1) 3) x? +3y? — 2xy + Sx +y = 302 [3)[ 1T [3) 3 (392 [35)[ 1
3) parabolas 4) ellipses 4) 22 4% = 2fur— by 4) x* -3y - 2xy+5x+y=¢ ) 1 |13 1 [38)] 4 |39 3 (400 | 3
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